Project Crashing
Reducing Project Duration — Project Duration Compression
++ Shortening an activity (by adding more resources, working overtime, etc.).is called
Crashing.
¢+ Project crashing is attaining maximum reduction in schedule time with minimum cost at
optimum cost-time point on the cost-duration graph
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Determining the activities to shorten. Crash only activities that are critical
Basically managers need to look for critical activities that can be shortened with smallest
Increase in cost per unit time (cost slope CS)

The normal time (NT) of an activity is the normal duration, and has an associated normal

cost (NC)
The crash time (CT) of an activity is the shortest possible duration, and has an associated
crash cost (CC)
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NT= Normal Time to complete an activity (longest time of activity)
CT= Crash Time to complete an activity (shortest time of activity)
NC= Normal Cost to complete an activity with NT
CC= Crash cost to compete an activity with CT (the cost to complete the activity if it is
performed in its shortest possible time)
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